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Run 5987 quartetwise, PosHelAccl/NSamplas0

=== Laser O -—

Entrie=: 58714&
Mean: 14. 2842 &/- 0UDDS2
St Dhewy: OUF7E 4~ 00023

=== Lager OFF ---
Entrie=: 45504
Mean: 27736 «- 00014
Sid Dhey: 0029571 = 00070
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Run 5987 quartetwise, Diffz0
=== Laser O -—

Eniries: 59148
Mean: -0.7551 «/- 0u0d21
Sbd Dey: 0.5194 & 0005

=== Laser OFF ---
Enlries: 455084
Mean: -0.0030 «- 00016
Sid Drey: 03504+~ 010072

Run 5387 quartetwise, Asyms(

=== Laser ON -—
Entries: 59148
Mean: -31.7840 +/- 00858
Sid Dhev: 21,8469 4/~ (LDE3S

=== Laser OFF ---
Enlries: 45584
Mean: -0.1243 «/- DU0EAD
Sid Dev: 14,7382 4/~ LWO4EE
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Run 5987 quartetwize, NegHalAcc/NSamplas0

=== Laser O -—-
Entries: 58148
Mean: 16.00554 /- 000034
Sid Dhev: OLUE1ET &4 00024

=== Lager OFF ---
Entries: 45504
Mean: 27165 «- 0.0014
Sid Dev: 02963 - 00070
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Run 5387 quartetwize, Sums0
[ == Laser OM -—-
- Entries: 55148
— Mean: 29,3236 «/- 0L00E2
[ Std Dev: 1.5077 & 0.0044
:_ === Laser OFF -—-
— Enitries:; 45504
— Mean: 55500 +/- 0.0022
— Sbd Deev: 04764 -~ 000716
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Run 5987 quartetwise, PosHelAccd
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Run 5987 quartetwise, Diifgd

— Lasar O —
trnlnea: 348
Mann: 2 HESEEN G217 «- 335
S Onire: TIZTESD AT &b JE402 0712

— L OFF —
Cnln: 43534
Maan: -HE1I70S <~ 24013258
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Run 5387 quartetwize, Asymsd

=== Laser ON -—
Entries: 59148
Mean: -32.185F +/- 0.07348
Sid Dev: 17.9572 4/~ LDG22

=== Laser OFF ---
Enlries: 45584
Mean: -0.06009 < 0LOXIF
Sid Dey: T.1900 +~ 00230
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Run 5387 quartetwise, NegHalAccd

— Ly 0% —

trinea: 3148

Magn: THIBIL SN - FIIR IS
25 Dwre: JIETHE 330 +1- BEES SHEE]
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Run 5987 quartetwise, Sums4
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Run 5987 quartetwize, Asyms LSbgl
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=== Laser O -—
Entrie=: 58714&
Mean: 0006 +- 0,022
St Dhey- 0.5244 4~ D005

=== Lager OFF ---
Entrie=: 45504
Mean: 00031 «- 0.0024
Sid Dey: 05176 =~ 00007
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Run 5387 quartetwize, Asyms DSbg1

=== Laser O -—
Entries: 5914&
Mean: 00003 «- 0.0004
Sid Dhey: OL0EET 4~ D00

=== Laser OFF ---
Enlries: 455084
Mean: 00001 +- 0.0004
Sid Dhey: 0L0EES -~ 00003

Run 5987 quartetwise, Asyms Horiz Fingar

=== Laser ON -—

Entries: 59148
Mean: -0.0019 «/- 0L000S
Sid Dey: 0.22BT 4~ 00007

=== Laser OFF ---
Enlries: 45584
Mean: -0.0024 «- 00012
Sid Dey: 02567 - 00009
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Run 5987 quartetwise, Asyms LIShg2
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=== Laser O -—-
Entries: 58148
Mean: -0.0007 «/- 0001 &
Sid Dhey: 03546 &~ 00070

=== Lager OFF ---
Entries: 45504
Mean: 00023 «- 00017
Sid Deyv: 03532 - 00072
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Run 5387 quartetwize, Asyms DShg2
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=== Laser O -—-
Entries: 59148
Mean: -0.0002 «- 00003
Sid Dev: 0L0E16 - 00002

== Laser OFF ---
Entries: 45584
Mean: -0.0003 «- 00004
Sid Dhev: 0L0E11 & 00003
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Run 5387 quartetwize, Asyms Vert Finger

0.8

=== Laser O -—-
Entries: 59144
Mean: -0.0053 - 00010
Sid Dev: 0.X362 &~ 0.0007

== Laser OFF ---
Eniries: 45584
Mean: 00006 +- 0.0013
Sid Dhev: 0U28171 & 00009
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Run 5887 quartetwize, posHE vs time
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Run 5887 quartetwize, diffl ve time
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Run 5987 quaretwize, asymisub vs fime
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Run 5887 guartetwize, negHO vs time
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Run 5887 quartetwize, posH4 vs time
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Run 5887 quartetwize, diffd ve time
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Run 5887 quartetwize, negH4 vs time
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Run 5987 quartetwize, USbgl ve time
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Run 5987 quartetwize, DESbg1 ve time
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